1 5279
1 1 12,000
1 o 1 2,100

2 1650 5206
L=470 |L=810
3 m m 4361
L=670 |L=670
m m
3 A=3.35 |A=208 7728
ha ha
3 1 10,000
3 1 400
A=225.
3 s 47,669
3 1 850

4 L=20m |L=60m 7,222

4 6381 (6381 5156

4 1 1 6452

a4 L=59m 5150 25168

4 1 1,700

. b

4 a 6,300
—

5 5,654 13 5231

1/5



24
24
Ne
23 24 25 531857| 531857
[ 6442
701 201m  |205m  |175m 16,892 95m Gz
L=66m [L=66m
701 W=6.1m |W=6.1m 4998
7.2m 7.2m
Ne18
A=90.9 |A=90.9
701 A A 658
Ne18
701 1 1 o
701 5576
L=114
701 m L=0Om o
W=6.2m
Ne18
A=243. | ,_
701 o> A=0 o
Ne18
701 1 o o
Ne18
701 1 1 o
L=115 |[L=958 Nel8
701 m m 284
W=4.2m |W=4.2m
i L=39.3
701 \I;\/_—szeénm m 5376
o W=2.5m
6 33999
L=140m
6 L=140 33999
m
8570
oz 1=93m  |L=350m |L-=260m AE L1585
L=160 |[L=270
m
702 8570 W=65 |W-=65 2823
7.5m 7.5m
L=105 || =155 Ne1g
702 8570 _ m 8000
W=7 |w=6.5m
7.5m -
7 g =¥ - 176,110 187,120
L=40m L=44m
7 1 1 2633
7 2 2 29,690
L=44m |L=44m
7 w=13  |w=13 103,963
165m [16.5m
7 L=45m |-7323 24,669
m
L=42m _ L=42m
7 Ww=13m |-"Om o We1i3m 47,650
7 6 a 6,501

2/5



7 1 1 8654 12,818
7 6 4 25 6

7 a4 8011
7 1 809
7 L=37m 82,110
7 35722

8 3 3 3136 3 3150
2 2 2
8 1 1 ar 7 154

9 1 1 12,621
L=405 |L=210
m m
9 Wea Wea 29,780
20m 20m
9 2 2 5,700
A=41.0 |A=41.0
9 1 1 9443
9 1 2,500
A=348.
2 19
9 1
L=590 |L=540.
10 m 6m 107,870
W=16m |W=16m
10
10 1 4,080
11 3 2 7,550

3/5



11 1 1 2,828
A=180. |A=100. A=445

1 30 61 18762 7 9,842

11 8 5 61,625 3 23,059

11 1 3,076

11 1 2,464
L=180

11 m 56,300
w=12m

12 1 2,709

13 1 2,153

14 100

888 o
888 4
888 25 4

4/5



A=909

18 a 3501

18 1 2,730
A=243.

18 o> 12710

18 1 19200

18 2,500
L=67m

18 et om 9,000

18 2435
L=115

18 m 27,038
Ww=4.2m
L=105

18 m 14,880
Ww=7.0 )
7.5m

18 L=145 63,500
m

18 1,316

18 3

5/5



